ChemicalBook

0p]

Q

N

0 2

2 8

@O e

= 9 -

o]
10 W

_._.__ m M o

< 35 - ~ "

Iy ) -

w B 9 n =

—_ 92« o 8 i

O o 4 8 il i

= m S @ RO o}

= 6 ¢ S W o )

- 1 = S o0 00 =

Kl & = or =

- o s W =z 20

ol g = £ O u £ 8

_ o) H_un_ & K0 Rl O 3 K 3

Kl 0 g ™ @ ¥ 8 ° 3 or o

g N g 5 53 5 5 3 " ur

- < @m._ TR w6 S5 w S =4 o =

i ) o ° o o o

—_ _ _u_x ﬂ :H::

(G =} 0 RO 3
< Hw X0 W/L ~ a.o.m %a i
- - ) t A mw m0 r s
o} Al z b0 ﬁ_ﬁ EA T ol 0 a1
—_ [— < < .. . =
ﬂ o1 Kfio 0 T R0 B ar 0 %0 ===_ 750 oo_e W_Uu_v m
E_.ﬁ_ i S . X+t R s 5 [ B o= 8

Iy < 0 . =

— S - SOn ok ok M ok R mw o
= .T.A. (TR T X0 T OrE wow R Lo s 2w
o 5 T = n T wowow K L AL
ol T omoW Yr oo 1o A TR R U B W o= <+ 0w R
0} O~ = OF g x4 4 5 w =% 5545 oK
: W= R/ omoa X x4 ow . ok DWW . o & & 2 8 T
— E A W & = ©® @ K ® N A om o= mosa I3 Tk 22 FE s

Chemical Book

FXI OHAI 2.

¢}

%l

=

=

P270: 0l MIZS AEE MH0l= ZHHLLOFAIHL


https://www.chemicalbook.com/ProductIndex_KR.aspx

SH2IAH...

iR

P301+P312 :

(D)2 WOAIR.

P302+P352

FAI2.

[[[e]
un
=

A

P321: ..

&l

Ol LIEHLE

2
=

TN

P332+P313

FAIL.

& MAS

1 CHAL ALS

o2z uy
—TT=2 A
QAR

A=

P362+P364

H
ol
0l
L]
JF

P391 :

ol
&3
4

H I

SHAIR

£ ol

g0l Tt WEs/E01

R

CHoI2

P501

b0

i}

Ju
o8

o0
H
=)
Kt
nk
0
0
00
oF
X0

o

Ok

0l
&3
n

4L

w0
OF
__o_”_
oK
KO

.:.
(m]

ol
JIId
X0
X0

4-bromo-2-chlorofluorobenzene

80
o

60811-21-4

o
Il

100%

SRE(%

0
od
K
KA

010

Jh.=0l SOHUAS T

ol
3
i
RD

I+

=

|€ 22A2

=

n

ol

Mo

~

o
E

o

IO AeE R2Z FIIAL

J
A0
0
T

<

FAI2

110
o
20

i

<
Ok
0
U
o0

D
of

ol
ar

Chemical Book



=

|.

FXHAL CH X

F

Ok D1 EF 2T ARl =2 AL S

o
= KIr
[[e] 0
oo = of
ot & Z W I
<k = 031 1of
i R < g H
20 S = =
W ol ~ m ok N
X0 m ﬁ_ o M o Mm 2o ﬁAm ﬁAw
RN = 3 = = =
= " ooz om X m oz 3 = =
ok 0 o3 W & © M g o o2 T Kd Ki
o = ° oz ol U L Bl = -
R0 o8 ot <t = A b ol o o)
1y g om otk o5 o By w2 n0 o = of g o
il o o M o B s xom m @ = U = @ g
~ womoo Mmoo Moot g = oz @ — T 5 o o B o}
s xremcwi g cEipEg |3 = gb EoF oG
oo 3l % o ol = o R0OO= — — I S = @
T o OS5 8 P 9 sEr0a < 3§ w 2w 2%
w330 s 3575 X woEwmas 0= B o 3 b Mode o
_.:._ Hr @_ B ok ® m < Woop B ™ ar 380 - =~ @ K ok ol
/s %% oo oz 8 o W d A w® < H 25 o W g
m ~ %% 0 a3 a5 R WU KR ® T T < K w3 & ov o ou o
B BoR oMM R oz Mg g RROR ZT om = ¥® B R o
R TR e S A TR R B I F 5 owme ®s g ow
@ oW = omo8 I . @ o mom . oM o™ ROB - W
J A ol mo®m WO oW T ol <4 oF B OB O@ © N HFE MW BE Ik

Chemical Book



D
0
=
1
S|
ol
RO

ANHC2RH SFIIA2

ii0J

10
Tl
0

FAI2

10

Bz |X

<0
i)

FEAN SCHAEH ANEZ 0

b

[u]
=

il

H 222 E0t1 Il S2A2

S Al 2¢2H, 5ot

JF

il

D0
KO
<
oK
A1
M

0

o
KR
KJ
ol

—_

SHAI2

ol =2

FAIR

<]

575 BZ5I0 BY

ol
!

FAIR

¢}

D20 =2

11
10
KO
23
i)
Kl
oJ

SHAIR

ol =2

o
Iy

oJ

oK

10
0l
H

ulo
KH

Ll
H
&M
iior

ol
o

—_

2URE

TWA : 2.5mg/m3Fluorides, as F
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01J ChV=0.570 mg/L (Ecosar:Neutral Organics), 2f2t& ChV=0.541 mg/L (Ecosar:Neutral Organics), =& ChV=1.817 mg/L (Ecosar:Neutral

Organics)
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